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PAPER—I
Note :— This paper contains fifty (50) multiple-choice questions, each question
carrying two (2) marks. Attempt all the questions. ' ’ '
A8 - B UMUAHL 4 N0 aglsely usdl 8. eds 6 AN B, oaL o Usdi
BB BULL. '

1. Doctor and patient have same relationship as :
(A) Teacher and student
(B) Library and books |
(C) Class and learning
(D) Husband and wife
RAl3cus ud egl Al Asiy Fdly Sl 9 3y %
Aa) [Ras A Qenl
(B) sy A Ay
© @l x4 [Bae
M) U x4yl

2. Which one is different from the rest three ?
(A) Apple
(B) Orange
(C) Banana
(D) Fruit
A 56 g sl onel gl ud @ 7
(A) A$AY
(B) Lol
© ¥
D) s
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Instruction : | |
In question nos,, 8 and 4, there exists some relationship between the terms

on the left of the sign : : as between the terms to its right. Identify the missing
term. ‘

Y ¢

Use AoUl 8 A 4 Hi Rt (RUSH) ;AL siell eugg wuda ot eln sald
B, adl ¥ AN Al el ecuog wula weelni. Aey ok o,

3. ACFJ : OUBJ : : SUXB : ?
(A) GNSA
(B) GLQZ
(© GKPY
(D) GMTB

4. BEAT : GIDV : : SOUP : ?
(A) XSYS
(B) YSXR
(C) YXSR
(D) XSXR

5. Which is the most effective method to control noise in a classroom ?
(A) Raising your voice above the students voice\
(B) Saying ‘don’t talk’ N |
(C) Remaining calm and just looking at students
(D) Continue teaching the class | - .
Alel quil 2AWIS Ul Foil gll adl-l vy FEBd vl usy ?
@A) [Qenellziiqi sl Gl vay s3.
(B) ‘Adl - s’ Yaru wuud),
© Wt WG 2 el ds Aqg.
@) B e ag Avg. |
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Choose one of the following statements as the most comprehensive way to

define the job of a teacher :

(A)
(B)
(©)

D)

"Propagation of knowledge

Conducting research
Community service

Propagation of knowledge, collection of knowledge and creation of know-

ledge

QA e Rariaiel Rasdl sty amd s wedefl wumid) wstd, Rayae

5.

(A)
(B)
(C)

O .

Al HALRLL $G,
Adiagt s1ag
AL Aal

et HARWL, 2l AAS A e+l GAURL s3]

7. A good academic researcher is :

A)
B)
(©)
D)

dependent on his teacher
follower of research plan strictly’
opeﬁ minded-and radical

highly knowledgable

s AR Aals AWus ¥

(A)
(B)
©)
D)

ettt as u Fel 8 8.
dalas o AsuSyds wqud 8.
Ysd A Yaojd [[QARs ¢y 8.
6 el Slu B, |
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8. An effective teacher is one who :
(A) is very disciplinarian
(B) has mastery over his subject
(C) knows little but talk very well
(D) can motivate students to learn
W[RBUHSIRS vEAYS VR ¥
A) Ay siy
B) [Amurl [Aseud €y |
(© Al ey S1d Urg dldl AR 530 w3
O [Rewelia Brear w2 2sn 20l

9. Symbiosis is beneficial to the :
(A) Host
(B) Parasite
(C) Host and parasite
(D) Neither host nor parasite
Asan, sluelsins 8. (QAuil As)
(A) YrHIA "R
(B) wlumdl W2
(©) U™ A Yyl W2
D) Al 4%l W2 U WYl 2

10. The disease ‘AIDS’ is chiefly due to :
(A) infection in blood cells responsible for production of antibodies
(B) infection in cells of brain
(C) infection in cells of liver
(D) infection in cells of kidney
‘DPSH’ A UM B Youd:
A) ulasisdl Geur~t sl 3RS AW @t
B) Wl siviul Ay adae
(©) gt siiml AW e

M) HAlisi sisini Ay et
: Paper I—B : 6



11.  Pasteurization of milk is done to :
(A) decrease the fa_t content
(B) increase the nutritive value
(C) destroy micro-organisms
(D) remove adulteration
S8 WRYAUSIUA UMl 2d B, 4
Q) uofld uH@ Heisal
(B) WiM@l Yeu il
(C) Y& DAL Y S
D) AN g sral

12. Genetic engineering means :
(A) Mapping of DNA sequences
(B) Analysis of DNA structure
(C) Using recombinant DNA technique
(D) Understanding the functions of DNA
Al O [Qen ANed
(A) DNA i 29ii-ll 2usaell-l «isl
(B) DNA 2w+ [asaue $3q
(€) YUy DNA 2sRise Gualol sl
@) DNA 4 s1d axng

Read the following passage and answer question nds. 13 to 16 :

From the very beginning man has attempted what has seemed impossible.
Man is different from the rest of the creation in this respect. He has an eternal
thirst for adventure. This has led to countless new discoveries and inventions.
Human curiosity is limitless. It is responsible for space flights and moon
landings. |

The desire to know what lies beyond the visible world takes many forms. The

everest hero Tenzing and the hero of the seven Seas, Mihir Sen, were inspired
Paper I—B K 7 P.T.O.



by the same restless spirit. Astronaut Armstrong and his colleagues, who were
the first humans to set foot on the soil of the moon, have proved beyond doubt
that man shall not rest until he has conquered the entire universe.

Now the question arises : Is it enough to know and master nature ? To answer
it one should first answer a more basic question : which is more important-
knowing and understanding the world around you or knowing and under-
standing yourself ? Everyone will agree that in the absence of self-knowledge
even the most advanced knowledge of the universe will be not only useless
but also dangerous. |

13. "It is responsible for space flights and moon landings.
4 Here ‘It’ means :
(A) Man’s desire for adventure
(B) Man’s curiosity
(C) Man’s attempting the impossible

(D) Man and the rest of creation

14. that man shall not rest until he has conquered the entire universe.
Here ‘rest’ means :
(A) Sleep
(B) Sit and read
(C) Stop
(D) Lie down

15. He has an eternal thirst for adventure.
Here ‘eternal’ means :
(A) Great
(B) O1d
©) Without beginning or end
(D) That whi-ch.lcannot be satisfied,

Paper I—B o 8



16. - Man is different from the rest of the creation in this respect.
Here ‘Man’ means :
(A) a particular man
(B) Tenzing and Mihir Sen
(®) Armstrong ‘
(D) All mankind

A wRae A qiEflA e vt 18 ol 16 i GaR 2uL 4
Yol ol % WA ¥ sy wouy Aol W2 uucl sul B, vy dgolni Wir
U WR(HL sl 2401 B, Hietall A B+ oput s . Arti YRR s
R Gerlad AY AU S e 4. WA AR Vil . AL % 5129, st
Yol AUy Asiigel qayi 8,
g% %lctll Wi sl 29t Hirami w5 zqaﬂ WL Y B, A [?v’ml &-v&lcn %
Ui W4’ Rl Bl Al wese wyell Ve, 9l % ¢dl. Aa sl sagiol
win - welleRia, Asd qdl Gu werda s Wi 5% 0% oyl yell wam
(59 GuR [Qd AR Ancuy il Yell e Rsuy g Aol
Mt oL U 8 3 geRdn el A 6w Rery Aqadl A walid 8 7 sy wansl
GriHl As ast? Wyl uad Ged . wpyen WS auid AU, 4 O 7 WAL
%3N AL, UM% F wed] ‘lldl"ﬂ At AU AHFeG, ? U A Wt wdy 3
e 2t Rt aHa ool [?mg Gad et el RRds u-l MU .

13, Ay 518 AHASARAL AN mu«m %ui @
udl A N2
A)  Mal wesy el éaept
(B) i sl |
(O) Hirarll HASY, WR WSl Mol
D) a1 ey well w0 ,
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14, ol gl ws Rsa GRR [dw AR A i Y wAaR [asuu gandl
4],
2l QM datril o)’ Med
T (A Guuqasdl Rl
@) ARl A aiad .
(©  »esairil #dl.
M)  USL usdlg Yl.

15, ‘Hiriarll Aed Wl opu wsad 8.
2dl ‘auad’ Ked :
(A) A
O (B) WAl
(O %L e Fvid 1l d
D) FA AN A wsiy adl

16. ‘v Aece{ul Wi vy nv&ﬂw Sl v 8.’
] ‘e’ B2d
C(A) -S5O AssA W
B caroflor HA MR A
(©) M Wi
D) AN WAL A

‘ Read the following paésage and answer question nos. 17 to 20 :

The word medieval means ‘the mlddle age’. It is used in history, therefore,
to refer to that period which lies between the ancient and the modern periods
and is quite literally the middle period. How do we know when the ancient
period ends and the medieval period begins ? We have taken the eighth century
A.D. as the beginning and the eighteenth century A.D. as the end of the
medieval period. Why ? Because as you will see when you read this book,
there were many changes taking place in Indian Society in about the eighth
century A.D. and during this time these changes influenced many aspects
of Indian Society. They influenced the political and economic aspects, social
laws, religion, language, art in short, almost everything. So we recogmse that
Paper I—B : 10 ‘



a new stage in Indian history had come about. We may say that this change
took place around the eighth century.
We have.to be just a little vague about the date because just as a person
does not change suddenly in one year, similarly societies also take time to
_ change. Nor does everybody become influenced by new ideas at the same time.
Some of these changes in Indian history began earlier than the eighth century
and in some parts of India their influence was felt a little later. But taking
a general view of things, we can say that the new phase took root in the
eighth century. In the same way with the break-up of the Mughal Empire
and the coming of the British, the eighteenth century also saw many changes.
So we refer to the century as the closing of the medieval period.

17. We have to be just a little vague about the date...............
The word ‘vague’ here means : |
(A) doubtful
(B) not precise
© mislevadi‘ng\ (
D) not élear |

18.  The eighth century has been taken as the beginning and the eighteenth century
 has been taken as the end of medieval period because : '

“ (A) No changes took place in Indian Society before elghth and after eigh-
. teenth century. ‘

‘(B.) A new stage began in Indian Society in the eighth and lasted up to
eighteenth century.

(C) The period between eighth and eighteenth century is the most important
perlod in Indian History.

D) The Mughals came to India in the e1ghth and the British came to India
' in the elghteenth century.

-Paper I—B - A 11 P.T.O.



19. It is used in history.............. and is quite literélly the middle period. The word
‘literally’ means : | ~
(A) Approximately
(B) Strictly |
(C) According to literature
(D) Accurately |

20. The above extract has -been taken from :
(A) a newspaper
(B) a history journal
(C) a book

(D) a magazine

A4l WRade A il uae AvaL 17 Al 20 4 G 2L

‘Heusidl’ oeni 4Byl A3 V. B Aot SRSINHL W9+ ag €1 Al MEa
Al dan allqA Yourl a2l 49y ds 8, 27 & Wttt wbes 2430 ugy yy
4oL Al A B, U 59 N (R 3 el youedl vt sui 3 valzle Yol
AU 54L 7 20uR A WA el § Heuyail w3via .30, s LML R e
.. 3L ABIHL AUl eil. U W U2 7 2l Yot BN Ul w20 3 .0 208
Hebil eurdly wwosul vl wRadHl 24l A Quedl eua Wi RRL Wiy
WL vl ueua AU 3 wlls Aoliui, wniws AR Feuing, wf 3 o 3
Sl A3 @101 €35 Eotatl sell. euCld SRSRAL A -idl dotssl el ol g
Wlsl 8. NG wa sl usia 3 v WRad .2, sl udlui Wi og.

Wl Ay MEU-] ool Al 2RuNedl €U A @RS ©, 5128 3 33 s Al
VA, s AR AR oleald A, A wsd ], Ax W e uRaid g
AU Afdd A 8. GuRid Al RARIAD Ueud 638 GU Alssu wud Wy A wsy
el cucly Slasiuni 2ais WRad-l .. wwell udl wdai uz wui sdi, A
Al UOUA G- J2ets euolu dlst RN, WUl wdl. Ay 21a g sl wsiy
5 eudly Slasiudl 4dl dessl 8.2, sl W w3 ). A o wwd o
UHPUL 2R 24 AHARAL 2004 A .4, w1l WM vl qai wRad-i
aul. ddl 13123 AN He Yourll Bird ARl YN,
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17, bl wiu REardl susidaui 2isl iumedt 81y d aueufds §———
] UL 2Q,
(A)  Usikue
(B) AALSSAL
© s O o ad.
D) L gvud ad.

18, ysl Ag Wl ¢l 3 Hu{govﬂ U3 .4 2UsHL ALTHL A wd O,
W UElHL YUl 8adl. SRR 5.
A)  oudla wuerui susdl Al udal 3 2zl A€l wedl 56 wRad+ yui 4 gdi.
B)  cudly SRSl sl AQHL N s AAd) detssl 43 4l 2R 21+ udl Yl
eyl
©  cucdld Sl w1 ugaHl s 8.
D) Hidte Al 2UsH AL 2UTH UUlL B AR UL a2l ALl

uy.

19. i ey Sl MUl ag ¢id....... A Wi wles a3 wgL HydlL KAqQ)
wefHi .
il wldes Aea
(A)  4isi y@u »iQ
(B) Assuud
(©) wlRcu- »igui
@)  drit e weui

20.  Gurdl uRWe.........
(A)  AHAUR Yonuidl Qaini el 8.
B)  Ssu-l wulsHidl Al 2wl 8.
(€)  WreisHidl Qi vuel 8.
@) sl wHRsA Qi vul 8. ,
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21.

22.

23.

Human personality is a product of :
(A) Environment

(B) Heredity

(C) Society

(D) All the above three
WrauBdc Hed ;-

A) vulae

B) uddls

©) Awr

D) GUL Ay,

Amnesia is known to mean :

(A) Sleep walking

(B) Loss of memory

(C) A symptom of stomach disease ‘
(D) Alpha waves )

¥lasia e :

A) Gluui uag

B) [Q¥ya

(C) %82 RUdld aaal

D) el AR

Long-term memory means :

(A) Memory of long passages

(B) Exact location of a long road

(C) Remembering an event of long past

(D) Recalling a long material of immediate past

sl vylasil wd

A) ¥a aisuw unu-l

(B) daioll el ALsSA @A

(©) eldsidl ojasiardl uertd W@

@) [sedn epdsindl aioll axga sl we s34
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24. A man saves 5% of his salary and pays 15% of his salary towards taxes; rest
of the salary is spent for‘ family. If taxes paid by him are Rs. 30,000, find
his salary. |
(A) Rs. 2,00,000
(B) Rs. 3,00,000
(C). Rs. 1,50,000
D) Rs. 1,00,000 ' S
As Alid Al 2asn 5% Feel oAd 53 B A 2AsU 15%  Fedl 25U @

8. ousl-l el A géet Meud . A A Rs. 30,000 253 a3 &3, dl A+l
swas yedl ¢ ? , |

(A) Rs. 2,00,000
(B) . Rs. 3,00,000
(C) Rs. 1,50,000
D) Rs. 1,00,000

2 X 2 ) »
25. If 3 of a number is equal to 3 of another number, what is the ratio between

these two numbers ?
A) 5:3
B 3:4
(C) 15: 4
M) 4:3
A Aeaeil -§- oL ofley Avui-l % UL SRUGR A dll VL A Avi-l iR
g ud ? '
4) 5:3
B) 3:4
© 15: 4
D) 4:3

Paper I—B , - 15 o P.T.O.



- 26.

217.

A 20’ x 14’ wall is to be painted leaving out a window on it measuring
7' x 4', If the rate of painting is Rs. 10 per square foot, what will be the
cost of painting ? '

(A) 2800

(B) 2828

(©) 2520

D) 3080

20" x 14’ -l Bt ur 7' x 4% L A5 awdl 8. ol Ryl Raad -l
®. A Toerdl €2 Rs. 10 AR g2 ¥ U dl, g wil Beel ud ?
(A) 2800

B) 2828

(C) -2520

(D) 3080

Average of four numbers is 12. If two other numbers, whose a{rerage is
15 are added to the given collection, the resulting six numbers will have an
average = ......ceeene |

(A) 13

(B) 12

(C) 15

D) 6

A vl e 12 9. 15 uRA lu Adl ol A Avwil GAd,
wadl o AvaiziiAdl 3w =Ll |

(A) 13 ’

B 12

©) 15

D) 6
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28.  The last day of the year. 2001 was a Monday. What w1ll the first day of the
year 2003 be ?

(A) Monday

(B) Wednesday

(C) Tuesday

- (D) Sunday

2001 Ul Beal Rad AMHAUR el qt[ 2003 -l udal [Bad sul 4z ¢ ?
(A) AR

(B) oEdlR

(©) R

D) AR

29. I want to distribute Rs. 600 amongst Priya, Kanu and Geeta. If Priya receives

% of the total amounf and Kanu receives %— of the total amount, what amount
will Geeta receive ?

(A) 200

(B) 100

(C) 400

D) 500

W2 Rs. 600 (UL, sq Y ol 92 adAat 8. A B go -l % SIE]

A A sy g 2aued) 5 oL MA Al ol dadl 254 wad 7
(A) 200
(B) 100
() 400
D) 500
Paper I—B o 17 ‘ P.T.O.



30. A bedsheet costs Rs. 400. The shopowner offers a discount of 15% on it. What
is the net cost of the bedsheet ?

(A) 415
(B) 385
(C) 460
D) 340

A5 el (BHd Rs. 400 9 gsiel Al YR 15% . A0dR Ul S, dl ALl
We s2dl 3fuul v ud ?

(A) 415
(B) 385
(C) 460
(D) 340

31.  Which of the following is the correct meaning of ‘Satyagraha’ in Gandhian
Thought ? |

(A) Retaliation

B) Aggréssibn

(C) Discussion and Negotiation

(D) Military >preparation _

Al Rl “Ucps’’ «l w13 Yool Ay, 9. Uiy Gu ealdl :
@) a2 Aad 9 | |

B) wWsHR

(© Aul uA QAR 2uvd

@) @] QuRli. |
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32.

33.

Attraction causes infatuation. Infatuation causes anger. Anger causes frus-
tration. Therefore attraction causes frustration. Point out the correct state-

ment from the following :

A(A) Infatuation causes attraction.

(B) Frustration causes anger.

(C) Infatuation causes frus‘tration.v

(D) Anger causes Attraction.

wisfeL ARABAA Geut 53 8. WRABA A sl Gc‘«l“'t 53 9. s R
Geumt 53 8. adl duslal MAWA Geut 53 . AA-uniel iy Ras eulal.
A) 2wAGd Band s 9. |

. (B) i sigd Gout $3 9.

(© wWald FRiwd Gut 53 3.
D) sl 2 Baul 52 6,

Gandhi and Einstein were contemporaries in Twentieth century. Gandhi was
a social reformer. Durmg Twentieth century there were many social reformers.
Therefore Einstein was also a social reformer. Select from the following the
statement which is correct : | '

(A) Gandhi was a social reformer.

(B) All who lived in Twentieth century were social reformers.

(C) Einstein was a social reformer.

(D) Gandhi lived in Eighteenth century.

Al A uSR2ASA (]l ALlHL wusl sl el wlrs JALAUD sl
flall gl ez 32as AUBs YaRiel edi. adl sudad we wsulys
ganrtalel sdl. AAnidl ¥ WY Qud & 4 wis s

(A) oti%ﬂ AHS Yarjiugl sdl. '

B) ¥ s Rl wdnl e A wHlys ziﬁuucuél Sclt.

(C) 2uSRRAS ArUlrs yallauel sdt.
(D) Ul M ALlHL Deul.

Paper I—B 19 - PTO.



34. Mis the son of P. P and S are brothers. T is the mother of S. V is the daughter

of S. Select the correct statement from the following :
(A) S is the uncle of M.

(B) T is the grand-mother of S.

(C) P is the sister of S.

(D) M and S are brothers.

M3 Pl Y 8. Pu-?tsouéw@ T&Srﬂqmt LV a8yl
8. laA-uniel Wy Rat wie s,

(A) S 3 M L 581 8.
B) TN S - el 8.
(© P 3§ -adg.

@ M ¥ S cudal 8.

35. What is the wavelength-range of visible light radiations in electro-magnetic

waves ?

(A) 10714 meter to 10710 meter

(B) 10~° meter to 10~4 méter

‘(C‘) 106 meter to 10~8 meter

(D) None of the above

[Qgd Yosla ot g wsiall dior- aouévu[dzmz g8
(A) 10714 lerefl 10710 2R

B) 1075 Hle:ell 1074 lex

(©) 1076 {28l 1078 322

M) 6w wuaamaﬂ CERRT R N
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36. What is the state of mercury ?
(A) Compound |
(B) Metal
(C) Non-Metal
- (D) Semi-conductor
WAL USIR s ) ?
(A) UGS
(B) g,
(C) dalg
D) wid-awss

37. Which physical quantity has a unit kilo-watt-hour ?
(A) Power R
(B) Energy
(C) Force
D) Momentum
56 oliRs D NAsy Bl diz war B 7
(A) wax |
(B) GA
(C) o
D) A

38.  Which is the Unconventional source of energy ?
(A) Wood
(B) Coal
(C) Mineral Oil
(D) Tidal Energy |
AAniel]l 213d1d AR wiid 541 O ?
@A) asg
B) sial
(©) vy e
@) eluAl aan
Paper I—B ' 21 ' | - PTO.



39. What is the use of Naphtha ? .
(A) Energy ‘
(B) Chemicalk in a plant
(C) Solvent for petrochemicals
(D) Solvent for Biochemical
Avaidl Guyiol {lA-unigl sui wy 9 ?
A) Wkd viuar G
(B) UUR oirlladirl Y2AML
() W3Hlscuml Wad-e a3
@) . sudiddlscuni Wad-e a3

40. What is the type of energy acquired by a body when lifted to certain height ?
(A) Kinetic
(B) Potential
. (C) Heat
(D) Electrical
s Ut agA 3edls G Yl wASA A - g, suL usrHl G"zf[ Aad ?
a) aula Gl - :
B) Rala Gl
(C) G
D) [Agd Gl

'41.  National Missile Defence Plan is undertaken by :
(A) Bill Clinton
(B) George Bush (Sr)
(C) Ronald Reagan
(D) George Bush (Jr.)
WY, uewd a9l dda A 53 ?
@A) ofla seleq
B) 4% g (Sr.)
(C) RU-Les o
@) »d%¥ ou (Jr.)
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42.

43.

44.

Economic liberalization in India was initiated by :

(A) ‘Rajiv Gandhi

(B) Narsimh Rao

(C) V. P. Singh

(D) Atal Bihari Vajpayee

opddi 2els Gellsel udld s edl ?

(A) @A Uil ~
(B) e uUA

©€) dl. dl. Al

D) ued olleldl arwy

India exploded its first nuclear device in :

(A) 1956

B) 1974

(C) 1981

D) 1998 :
MlRcHl ool WUl HaHAUR 4L adlui wdl 7

(A) 1956

(B). 1974

(C) 1981

D) 1998

Bank Nationalization and abolition of Privy Purses was initiated by :
(A) Jawaharlal Nehru

(B) Indira Gandhi

(C) Lal Bahadur Shastri

(D) Chandrashekhar '

A NS A Al welougl AoEl W2 waddl s s 7
(A) FUSAE A8 '

B) Sell gl

(C) dld ollg Wall

D) AsAuR
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45. The person who brought about integration of Princely states with the rest
of India was : '
(A) Morarji Desai
(B) Ram Manohar Lohia
(C) Vijaya Laxmi Pandit
(D) Sardar Patel
lcdHl TAUSI [Adlswt 530 ivis CTERR ! Pm[u sAUHL Sl SISl ?
(A) HRARD 2ULS ,
(B) UH U-ls: dillzu
(€©) [wwasd Wldd
D) AREIR ued

46. The first Governor General of India was :
" (A) Lord Mountbatten
(B) Dr. Rajendra Prasad
(C). C. Rajgopalachari
(D) Gen. Cariappa
G-l NaH dadR e 59 edl ?
(A) s HBebe
(B) Si. UFwUALE
(©) fl. niwarul
D) e sPlsw

47. 56 students are divided into three groups A, B and C. Group B consists of
’ twice the number of students in group C. Group A has half the number of -
students than group C. How many students are there in group C ?

(A) 8
(B 12

(©) 16

») 28

56 [Qeneflyiinl »1 YU A, B 2 C Hi ada 8. YU B AvAL YU C sl
el 8 WU YU A UL Avul YU C sl vsdll V. di yu C ui [Qenellail
dwy el ? -

A) 8

(B) 12

(C) 16

D) 28
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48.

49.

50.

You are walking straight, then you turned towards left.. If the settin
sun is now at your left, then in which direction were you walking in th
beginning ?

(A) East

(B) West

(C) North

(D) South ‘

adl 18 el @ ol wedl qMl sl U AL 9, WA Yulkd ¢d A3
Stefll ouy adl ¢lu dl, uFBhaMi Ml 56 R ds AL sl ?

@ yd

(B) By

(C) Gur

®) elaw

While going to office, you find that a running car has just run over a child
What will you do ? ‘

(A) Hire a taxi and try to follow the car

(B) Inform the nearest police station about the accident

(C) Render first-aid to the injured child

(D) Search the pockets of the injured to find out his home address
WA ol v, d Ny 3 As We512 s UAS, $ASIN wcll el il g 52490 ?
A) 25l sUA izl lest 5290

(B) sl WA Ry s2dA]l W 5290

(O add sasa WMy WdR Y3 wisul

D) qHdrl PR AWl Al qre wewy s,

Index of mental ability is known as :
A EQ
B) 1Q
€©) MQ

- D) .8Q

Hnilis uld-l yausis 1A yoo siauy @,
(4) EQ
(B) 1Q
© MQ
D) sSQ

Paper I—B | .25
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